John O. Hicks, III

Attorney at Law 166 Main Street P. O. Box 64 Calhoun, Kentucky 42327

Telephone: (270) 273-5749 Facsimile: (270) 273-9855

February 19, 2008

Ms. Beth O'Donnell Public Service Commission 211 Sower Blvd. P. O. Box 615 Frankfort, KY 40602-0615

RECEIVED
FEB 2 1 2008
PUBLIC SERVICE
COMMISSION

RE: Purchased Water Rate Adjustment North McLean County Water District

Dear Ms. O'Donnell:

Enclosed please find signed original application for Purchased Water Rate Adjustment on behalf of North McLean County Water District, along with eleven (11) additional copies of same.

A copy of the Notice to Customers, as required pursuant to Section 5 of 807 KAR 5:068, will be filed with your office subsequently. Calculations reflecting the increased rate are attached.

North McLean County Water District proposes that the effective date of its Purchased Water Rate Adjustment would be March 10, 2008. However, we have left the effective date blank on our tariff (rates and charges) sheet so that the Public Service Commission may assign such effective date that you determine to be appropriate. Nevertheless, the Water District requests that you consider our proposed date of March 10, 2008, to be the effective date of the Purchased Water Rate Adjustment.

Please process this application and issue an Order approving the increased rate, as may be appropriate.

Ms. Beth O'Donnell Page Two February 19, 2008

Should further information be needed, please be sure to let me know.

Very truly yours,

John O. Hicks, III

JOH/ac

Enclosures

PURCHASED WATER ADJUSTMENT FOR WATER DISTRICTS AND ASSOCIATIONS (807 KAR 5:068)

North McLean County Water District				
(Name of Utility)				
February 18, 2008				
(Date)				
P. O. Box 68				
(Address)				
Livermore, KY 42352				
(City, State)				
(270) 278–2800				
(Telephone Number)				

RECEIVED FEB 2 1 2008

PUBLIC SERVICE COMMISSION

1.a. Name of all wholesale suppliers and the base (current) rate and changed rate of each. In the event the water purchased is billed by the supplier on a rate that is not a flat rate schedule, the entire rate shedule must be shown. Attach additional sheets if necessary.

Supplier(s)	Base Rate	Changed Rate
West Daviess County Water District	\$2.13	\$2.80
City of Calhoun	\$1.90	N/A (no change)
City of Livermore	\$2.16	N/A (no change)
	(All rates are	e per 1,000 gallons)

1.b. 2.	of the increase is attached as Exhibit \underline{A} .					
From	January, 2007 (month and year)	_through	December,			
3.	Statement of water pur supplier, purchases from purchased through a d must be shown. Attac	n each suppl lecling block	ier must be s rate schedule	hown separately. If e, purchases for eac	water is	
	Supplier(s) Daviess County District		during ⁻	Purchased 12 month period 708,500		
City	of Calhoun		110,3	327,000		
City	of Livermore	relegio de la co	2,6	643,400		
	TOTAL PURCHASES		126,6	78,900		
Ą.	Total sales for the 12 i	month period	114,847,	500		

- 5. Increased water cost \$9,184.70

 The increased water cost is the cost difference between purchases at base (current rate) and purchases at new rate.
- 6. Purchased water adjustment factor eight (8) cents per 1,000 gallons

 The purchased water adjustment factor is obtained by dividing the increased cost of water by the total gallons sold.

Note: The purchased water adjustment factor is added to each thousand gallons sold. If the minimum usage is 2,000 gallons then the purchased water adjustment factor would be added to the minimum bill twice. Revised tariff sheets must be attached showing the rate to be charged by the utility and the effective date of the increased rates.

7	Proposed	effective	date	March	10,	2008	
7.	11000350	CHECKIVE	uate				

Signature of Utility Officer Nathel Jennings

Chairman

(Title)

North McLean County Water District • (Name of Utility)		Community, Town or City P.S.C. KY. NO. 1 Original SHEET NO. 1 CANCELLING P.S.C. KY. NO. SHEET NO. SHEET NO. TES AND CHARGES
	X.A	1ES AND CHARGES
-	7 Rates	
First	2,000 gallons	\$14.10 minimum bill
Vext	8,000 gallons	\$ 5.00 per 1,000 gallons
Next	30,000 gallons	\$ 4.49 per 1,000 gallons
Over	40,000 gallons	\$ 4.01 per 1,000 gallons

DATE OF ISSUE February 18, 2008

Month/Date/Year

DATE EFFECTIVE

Month/Date/Year

ISSUED BY Month/Date/Year

Nathel Jennings (Signature of Office)

TITLE Chairman

BY AUTHORITY OF ORDER OF THE PUBLIC SERVICE COMMISSION IN CASE NO. DATED

WEST DAVIESS COUNTY WATER DISTRICT

3400 Bittel Rd Owensboro, KY 42301 Phone: (270) 685-5594

Fax: (270) 683-6324

January 4, 2008

TO: All Wholesale Customers

RE: Tank Surcharge

This letter is to inform you that the West Daviess County Water District has filed for and received approval for a tank surcharge to fund the construction of a new 500,000 gallon tank. A surcharge of 67 cents per 1,000 gallons sold was approved to cover the expenses of the construction. This will be billed on all customers' accounts for a period of 5 years or earlier if all the funds have been collected. We will bill this surcharge for the first time at the end of January 2008.

If there are any questions concerning this matter, please contact our office.

Sincerely,

William G. Higdon

Manager

CITY OF CAL	HOUN	January 2007	/-December 2	007	
RATE:	1.90		Calhoun		 GAL SOLD
MONTH		136 West	Pot Chip	Hosp. 81	
January		1016000	5420000	2763000	
February		1014000	5335000	2727000	
March		917000	4880000	2481000	
April		1023000	5724000	2859000	
May		1002000	5560000	2726000	-
June		1138000	6084000	3428000	
July		1069000	5894000	3193000	
August		1187000	6984000	3707000	
September		1178000	7298000	3503000	
October		1179000	6224000	3142000	
November		974000	5651000	2774000	
December		936000	5825000	2711000	
Total		11617000	65459000	33251000	114847500
	11617000				
	65459000				
	33251000				
Tot Gal	110327000	Divided By	1000 equals	110327.00	
	110327.00	Times 1.90	Equals	209621.30	

WEST DAVIESS COUNTY			January 2007-December 2007			
RATE	2.13		W Daviess			
MONTH		Guffey	Hwy 81	Livia		
January		531500	48000			
February		488300	43000	316000		
March		502200	44000	390900		
April		399700	40000	115400		
May		660600	56000	706100		
June		707600	66000	1175700		
July		679200	51000	1203200		
August		803100	73000	1135500		
September		539100	50000	962400		
October		667300	55000	753600		
November		431600	18000			
December		520000	2000	53000		
Total		6398700	498000	6811800		
	6398700					
	498000					
	6811800					
		Divided by	1000 equals	13708.50		
	13708.50	Times 2.13	equals	29199.10		
	13708.50	Times 2.80	equals	38383.80		
	38383.80					
	29199.10	 				
		Increase				
	9184.70	divided by	114847500 equals	0.0000799		
	.08 Per 1000) Gallons				
	First 2000 G	als	14.10			
<u> </u>						
	Next 8000 G	ials	5.00	Per 1000 Gal		
<u> </u>			0.00	- 31 1113 041		
	Next 30000	Gals	4 40	Per 1000 Gal		
	.1021 0000		7.70			
	Over 40000		A 01	Per 1000 Gal		
	- Vei 40000	L	₩,01	I OI IVVV Gal		

	CITY OF LIVE	RMORE	January 2007	'-December 20	007
GAL SOLD	RATE	2.16		LIVERMORE	
	MONTH				
	January				
	February		800		
	March				
	April		74700		
	May		172000		
	June		1697700		
AND THE PROPERTY OF THE PROPER	July		227900		
	August		381100		
	September				
	October		88100		
	November		1100		
	December	***************************************			
114847500		***************************************	2643400		
	TOTAL CALS	264200	Divided by	4000 Equals	264 20
	TOTAL GALS	264300	Divided by	1000 Equals	264.30
		264.30	2.16		570.88
	-				
***************************************	-				
	-				
				1	
					
***************************************					_
<u></u>					
	1				

	FOR McLean County, Kentucky Community, Town or City
	P.S.C KY. NO1
North McLean County Water District	original SHEET NO1
(Name of Utility)	CANCELLING P.S.C. KY. NO.
	SHEET NO.
RATES	AND CHARGES
Monthly Rates	
First 2,000 gallons	\$13.94 minimum bill
Next 8,000 gallons	4.92 per 1,000 gailons
Next 30,000 gallons	4.41 per 1,000 gallons
Over 40,000 gallons	3.93 per 1,000 gallons
CURRE	NT
DATE OF ISSUE June 18, 2007 Month/ Date / Year	
DATE EFFECTIVE July 9, 2007 Month/ Date / Year	
ISSUED BY Mathel Segrature of Officer)	PUBLIC SERVICE COMMISSION OF KENTUCKY
TITLE CHAIRMAN	EFFECTIVE 7/9/2007

BY AUTHORITY OF ORDER OF THE PUBLIC SERVICE COMMISSION

IN CASE NO. 2007-00252 DATED July 24, 2007

PURSUANT TO 807 KAR 5:011
SECTION 9 (1)

By
Executive Director